

$$\begin{aligned}
 & C G C \rightarrow 0 & \forall \mathbb{R} \neq 0 \\
 & \sum c_i u_i = 0 & \text{Mr } a' \text{ mehr lösen!} \\
 & \left\langle \sum_{\substack{c_i u_i \\ \neq 0}}, \sum_{\substack{c_i u_i \\ \neq 0}} \right\rangle = 0
 \end{aligned}$$

$$0 \leq \langle u - \lambda v, u - \lambda v \rangle = \langle u, u \rangle - 2\lambda \langle u, v \rangle + \lambda^2 \langle v, v \rangle$$

$$D = b^2 - 4ac$$

$$D \leq 0 \implies \langle u, v \rangle^2 \leq \|u\|^2 \|v\|^2$$

$$|\langle u, v \rangle| \leq \|u\| \|v\|$$

$$\sqrt{\langle cx, cx \rangle} = \sqrt{c^2 \langle x, x \rangle}$$

$$\|cx\| = |c| \|x\|$$

$$\|x+y\|^2 \leq (\|x\| + \|y\|)^2$$

$$\langle x+y, x+y \rangle \leq \|x\|^2 + 2\|x\|\|y\| + \|y\|^2$$

$$\langle \cancel{x+y}, \cancel{x+y} \rangle - \langle y, y \rangle \leq \cancel{\|x\|^2} + \cancel{2\|x\|\|y\|} + \cancel{\|y\|^2}$$

S.S

$$\|x - y\|^2 = \frac{\langle x, x \rangle}{\|x\|^2} - 2 \frac{\langle x, y \rangle}{\|y\|^2} + \frac{\langle y, y \rangle}{\|y\|^2} =$$

$$= \|x\|^2 + \|y\|^2 - 2 \|x\| \|y\| \cos \angle(x, y)$$

$$x \perp y \Leftrightarrow \langle x, y \rangle = 0$$

$$\|x+y\|^2 = \langle x, x \rangle + 2\langle x, y \rangle + \langle y, y \rangle$$

$$+ \|x-y\|^2 = \|x\|^2 - 2\langle x, y \rangle + \|y\|^2$$

---

$$\|x+y\|^2 + \|x-y\|^2 = 2\|x\|^2 + 2\|y\|^2$$

$$\begin{aligned} \|x\| &= \|y\| \\ \langle x - \|y\|, x - \|y\| \rangle &= \langle x - \|y\|, x - \|y\| \rangle + \langle x - \|y\|, x - \|y\| \rangle - \langle x - \|y\|, x - \|y\| \rangle \\ &= 0 \end{aligned}$$

$$\begin{aligned} \langle u_i, u_i \rangle &= 0 \\ \sum_{i=1}^n \langle u_i, \lambda \cdot u_i \rangle &= 0 \\ \implies \langle u, \sum_{i=1}^n \lambda \cdot u_i \rangle &= 0 \end{aligned}$$

$$\lambda \perp u_i ?$$

$$u \perp \sum_{i=1}^n \lambda_i u_i$$

$$\lambda_j = 0 \quad i \neq j$$

$$\lambda_j = -1$$

$$\sum_{i=1}^n \langle u_i, u_i \rangle = 0 \quad / \quad u_i$$

$$\sum_{i=1}^n \langle u_i, u_i \rangle = 0 = \langle 0, u_i \rangle$$

$$\sum_{i=1}^n \langle u_i, u_i \rangle = 0$$

$$0 = 0$$

OG



$$\begin{aligned}
 & u_1 \quad p_1 = u_1 \quad p_1, p_2 \in \langle u_1, u_2 \rangle \\
 & p_2 = \lambda_1 p_1 + u_2 \quad / \quad p_1 \in \langle p_1, p_2 \rangle \subseteq \langle u_1, u_2 \rangle \\
 & 0 = \lambda_1 \langle p_1, p_1 \rangle + \langle u_2, p_1 \rangle \quad u_1, u_2 \in \langle p_1, p_2 \rangle \\
 & \quad \quad \quad \langle u_1, u_2 \rangle \subseteq \langle p_1, p_2 \rangle \\
 & p_1 \neq 0 \implies \lambda_1 = - \frac{\langle u_2, p_1 \rangle}{\langle p_1, p_1 \rangle}
 \end{aligned}$$





